240015

L lu

i |

(32)

P/N

Model:
Capacity:
Weight:

Load Wheels:

OVERALL WIDTH

240015

S00BT

1,000 Ibs

70 Ibs

8" x 27 (2)
Moldon Rubber
w/roller bearing

REPLACEMENT PARTS LIST

150120

WHEEL: "HB” (8 X 27)

108204

WASHER: FLAT 3/4 SAE

108218

PIN: COTTER (3/16x1—1/2")

108226

HANDGRIP:

1” BLACK

054250

CASTER: SWIV. 5X2 POLYOLEFIN

100642

NUT: HEX (PLTD) 3/8—16

108201

WASHER: FLAT (PLTD) 3/8” USS

100217

WASHER: LOCK (PLTD) 3/8”

OO |IN[O|O|Dd|WIN]|—

100216

SCR: HEX HD CAP (PLTD) 3/8-—16X1"

INFNFNENENINTIN YIS

SPILL-LESS OPEN DRUM TRUCK

Features:

Transport drums in a vertical position.
Handles 55 gallon drums.
Heavy duty 5" x 2" polyolefin caster with roller bearings.
All welded construction.
Distance from the Front Plate to the floor is 3/4”

st
Niig
| (25 1/4)
(32 1/2) | OVERALL
OVERALL ! DEPTH
HEIGHT !
|
|
|
(23 7/8)
NOSE PRONG WIDTH
x=on|§ -
PRINT ISSUED = WS o ey STRIAL PROD T o NG
g _ |sle[™ 500BT ww (DU 6—15-99
NOV. 15, 2006 -'IZE g % OPEN DRUM TRUCK :m::n
WESCO MANUFACTURING § e "’”f ZraE o s 17 = 6
ENGINEERING DEPARTMENT = mewwiive e 1 o 1| C— 240015 |E| B




